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Answers

1. 0.048535

2. 2,917.9

3. 0.86323

4. 6,228,000

5. 0.08486

6. 85,000

7. 5.85

8. 32,614

9. 74.699

10. 48,894.6

11. 0.089525

12. 45,510

13. 5.23

14. 2,450

15. 0.44617

16. 27,114

17. 0.85

18. 92.6

19. 0.00044

20. 2,595,300

Solve each problem.

5.47 × 104

This is the same as saying:
5.47 × (10 × 10 × 10 × 10)

And because the base is 10 you can just move
the decimal 4 places to the right to solve.

5.47 × 104 = 54,700

5 4 7 0 0 .

2.36 ÷ 102

Division is the same way. Only instead of
moving the decimal right, you move it left.

You can also multiply a negative exponent,
which means the same thing.

2.36 × 10-2 = 2.36 ÷ 102

. 0 2 3 6

1) 485.35 ÷ 10 4 2) 291.79 × 10 1

3) 86.323 ÷ 10 2 4) 622.8 × 10 4

5) 84.86 ÷ 10 3 6) 8.5 × 10 4

7) 58.5 ÷ 10 1 8) 326.14 × 10 2

9) 746.99 ÷ 10 1 10) 488.946 × 10 2

11) 89.525 ÷ 10 3 12) 4.551 × 10 4

13) 52.3 ÷ 10 1 14) 2.45 × 10 3

15) 44.617 ÷ 10 2 16) 27.114 × 10 3

17) 8.5 ÷ 10 1 18) 9.26 × 10 1

19) 4.4 ÷ 10 4 20) 259.53 × 10 4
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